it 1 Lt Hr Bin name Expected signal T1tttt mg /m 2 [TeV] Predicted Observed
[GeV] [GeV] (1.9,0.1) (1.4,1.1) background
[6,8] | =1 | [250,450] | [500, 1000] | NB1, LT12, HTO01 < 0.01 3.02 £+ 024 206 £ 12 £ 94 194
[1000, 1500] | NB1, LT12, HT23 | 0.03 £ 0.01 037 + 0.08 53 £ 74 + 36 48
> 1500 NB1, LT12, HT4i 0.07 £ 0.01 0.05 + 0.03 18 + 42 + 05 19
[450, 600] | [500,1000] | NB1, LT3, HT01 003 + 001| 066 =+ 0.11 13 + 25 + 09 10
[1000, 1500] | NB1,LT3,HT23 [ 0.05 + 0.01| 027 =+ 0.07 45 + 17 + 03 6
> 1500 NB1, LT3, HT4i 0.09 + 0.01 0.03 + 0.02 1.7 +£ 10 £+ 03 5
[600, 750] | [500,1000] | NB1, LT4, HT01 004 + 001| 008 =+ 0.04 40 + 15 £ 05 4
[1000, 1500] | NB1, LT4, HT23 0.08 + 0.01 035 + 0.08 28 + 13 +£ 02 5
> 1500 NB1, LT4, HT4i 0.17 + 0.02 0.02 + 0.02 18 +£ 12 £+ 02 2
> 750 > 500 NB1, LT5i, HTO0i 1.01 + 0.04 028 + 0.07 26 + 11 + 02 2
=2 | [250,450] | [500,1000] | NB2,LT12, HT01 | 0.01 <+ 0.01 206 £ 0.20 147 £ 94 £ 55 143
[1000, 1500] | NB2,LT12, HT23 | 0.04 + 0.01 < 0.01 4 £+ 73 + 17 37
> 1500 NB2, LT12, HT4i 013 + 0.01 < 0.01 1 + 27 4+ 07 12
[450, 600] | [500,1000] | NB2, LT3, HT01 0.02 + 0.01 054 + 0.10 94 + 21 + 08 10
[1000,1500] | NB2, LT3, HT23 [ 0.10 + 0.01| 017 =+ 0.06 34 £+ 17 + 02 9
> 1500 NB2, LT3, HT4i 0.19 + 0.02 < 0.01 14 4+ 08 £+ 02 2
[600, 750] | [500,1000] | NB2, LT4, HT01 0.03 + 0.01 < 0.01 24 + 12 + 04 3
[1000, 1500] | NB2, LT4, HT23 0.10 + 0.01 026 + 0.07 12 +£ 09 £+ 02 1
> 1500 NB2, LT4, HT4i 024 + 0.02 0.03 + 0.02 1.1 +£ 08 + 02 0
> 750 > 500 NB2, LT5i, HTO0i 150 + 0.05 032 + 0.08 042 + 034 £+ 005 3
>3 | [250,450] | [500,1000] | NB3i, LT12, HT01 | 0.01 + 0.01 1.03 + 014 33 +£ 29 + 15 34
[1000, 1500] | NB3i, LT12, HT23 | 0.06 + 0.01 < 0.01 1 += 20 £ 05 5
> 1500 NB3i, LT12, HT4i | 0.13 + 0.01 < 0.01 29 + 09 £ 03 3
[450, 600] | [500,1000] | NB3i, LT3, HT01 0.03 + 0.01 029 + 0.07 14 £ 05 £ 02 2
[1000, 1500] | NB3i, LT3, HT23 | 0.09 + 0.01 020 + 0.06 072 £ 038 <+ 0.07 1
> 1500 NB3i, LT3, HT4i 020 + 0.02 < 0.01 066 + 044 <+ 0.07 0
> 600 > 500 NB3i, LT4i, HTOi | 1.85 £ 0.05 023 + 0.06 1.7 +£ 07 £+ 02 2
>9 | =1 |[250,450] | [500,1500] | NB1,LT12,HTO3 |[0.01 + 0.01| 090 =+ 0.12 79 +£ 09 + 07 7
> 1500 NB1,LT12,HT4i | 0.03 £ 0.01 0.02 + 0.02 22 £ 07 £ 02 1
> 450 [500, 1500] | NB1, LT3i, HT0O3 | 0.13 + 0.01 072 + 011 1.1 +£ 04 £+ 02 0
> 1500 NB1, LT3i, HT4i 038 + 0.02 0.10 + 0.04 050 + 026 £ 0.06 1
=2 | [250,450] | [500,1500] | NB2,LT12, HT03 | 0.02 + 0.01 1.15 + 014 73 + 08 =+ 05 9
> 1500 NB2,LT12, HT4i | 0.08 =+ 0.01 < 0.01 28 + 08 + 03 4
> 450 [500, 1500] | NB2, LT3i, HT03 | 0.23 + 0.02 083 + 012 071 £ 024 £ 0.09 2
> 1500 NB2, LT3i, HT4i 072 + 0.03 020 + 0.05 059 + 030 + 0.07 1
>3 | [250,450] | [500,1500] | NB3i, LT12, HT03 | 0.03 + 0.01 079 + 011 36 + 06 £ 03 3
> 1500 NB3i, LT12, HT4i | 0.13 £ 0.01 < 0.01 083 £+ 034 <+ 007 0
> 450 [500,1500] | NB3i, LT3i, HT03 | 031 + 0.02| 026 + 006 |[033 =+ 016 =+ 0.07 0
> 1500 NB3i, LT3i, HT4i | 1.04 £+ 0.04 0.17 + 0.05 0.05 £+ 005 <+ 0.01 0



